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TLA is a Teacher Led Assignment
A message for students

When people see mathematical symbols they often feel that they are too complicated to think about. Most people do not realise that a mathematical symbol is just a shorthand way of giving an instruction.

Think of it like this. I have an idea in my head about what I want you to do. I want to give you an instruction about what you have to do but I do not want to talk. I use a code so that you know what to do. That is the way to think of mathematical symbols like +  -  ×   ÷ 

When you work through this booklet you will see that you are asked to use ‘pictures in the mind’. This is very important. Each time you see a mathematical symbol use a picture in your mind of what I want you to do. Keep using the ‘mind pictures’ and you will see that maths becomes very easy. 

The booklet consists of four parts.

Part 1: multiplication

Thinking about multiplication as ‘do the same thing lots of times’ and division as ‘look at it and wonder how many …’ . They are important ideas in making maths make sense. 

Part 2: division
‘Look at it and wonder how many …’ and ‘same value: different appearance’.

Part 3: long multiplication 

‘Do the same thing lots of times’ and ‘same value: different appearance’.
Part 3: long division 

‘Look at it and wonder how many …’ and ‘same value: different appearance’.

Part 1: multiplication and division

What …                           you need to know to start. TLA1
· Same value: different appearance. A mathematical expression like 3 × 4 = 12 tells us that 3 × 4 has the same value as 12 (but a different appearance).

· Pictures in the mind. When you see a mathematical expression like 3 × 4 = 12 you should picture it as ‘I put three cups on the table. I do the same thing lots of times. I do it four times. How much on the table? Twelve cups’.






 

· Look at it and wonder. When you see a mathematical expression like 3 × 4 = 12 you should picture it as ‘I can see 12 cups on the table. I can see 3 × 4 cups on the table (same value: different appearance). Look at 3 × 4 and wonder. How many piles of three cups can I see? Four. So 12 ÷ 3 = 4. Look at 3 × 4 and wonder. How many piles of four cups can I see? Three. So 12 ÷ 4 = 3.

· 12 ÷ 3 has the same value as 
[image: image1.wmf]12
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 and the same value as  
[image: image2.wmf]12
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 and the same value as 4
Part 1: multiplication and division
What …                                  you need to do to start. TLA2
When you see the ‘three times’ table 



1) 3 00 × 4 00 =

2) 3 00 × 4 000 =

3) 3 00 × 9 00 =

4) 3 00 × 7 000 =

5) 3 00 × 4 0 =

6) 3 0 × 4 0 =

7) 3 000 × 8 0 =

8) 3 0 × 7 000 000 =

9) 3 00 000 × 4 00 =

10)  300 × 5 0 =

Now …                                         you can do this.                 TLA3
(1)  Look at this: 17  × 13 = 221 and use pictures in the mind to do these:

(a) 17 000 × 13 00                           (b) 17 00 × 13 0

(c) 17 000 × 13 00                           (d) 17 00 000 × 13 0

(e) 17 00 000000 × 13 0 000

(2)  Look at this: 11  × 19 = 209 and use pictures in the mind to do these:

(b) 11 000 × 19 000                           (b) 11 0 × 19 00

(d) 11 × 19 000                           (d) 11 00 000 × 19 00

(f) 17 000000 × 13 00 000

Now …                    you can practise                            Exercise 1

1) 6 00 × 7 000 =

2) 5 000 × 60

3) 9 0 × 6 00

4) 4 000 000 × 6 0 =

5) 2 00 000 × 9 0 000 =

and …                     you can practise                        Exercise 2

1) 5 00 × 5 000 =

2) 3 000 × 80

3) 5 0 × 7 00

4) 8 000 0× 6 0 =

5) 6 00 000 × 7 000 =

Part 2: division

 What …            you need to know to start                       TLA4


What …          you need to do to start                              TLA5


Now …                   you can practise                          Exercise 3

1) 63 000 ÷ 9 00 =

2) 49 00 ÷ 7 0 =

3) 36 000 ÷ 4 00 =

4) 72 00 ÷ 9 00 =

5) 72 000 ÷ 9 0 =

and …                   you can practise                            Exercise 4

1) 72 000 ÷ 9 00 =

2) 56 000 ÷ 7 0 =

3) 4 000 ÷ 4 00 =

4) 63 00 ÷ 7 00 =

5) 72 00 ÷ 9 00 =

Part 3: long multiplication

What … you need to know to start                               TLA6
· 62 has the same value as 60 and 2.
Two cards

like this




                            fit together

                            like this                         to form this.

· 3 × 4 can be pictured in the mind as ‘Put 3 cups on the maths table; do the same thing lots of times; do it 4 times’.

· The ‘picture in the mind’ can be sketched like this:

	×
	4
	
	

	3
	12
	
	



                      This is the maths table with 12 cups on it. The figures outside the table remind you how those twelve cups got there: as ‘Put 3 cups on the maths table; do the same thing lots of times; do it 4 times’.

What … you need to do to start     TLA7

Imagine doing 62 × 3 like this:

	×
	3
	
	

	60
	180
	
	

	2
	6
	
	


When you see this picture of the maths table notice that 60 cups were put on the maths table three times; then 2 cups were put on the maths table three times. You can see 186 cups.

Sketch similar maths tables for these:

1) 45 × 3

2) 462 × 3

3) 462 × 30

4) 462 × 34
So …              you can do these                                     TLA8

1) 52 × 35

2) 27 × 30

3) 42 × 25

4) 421 × 41

5) 444 × 444
Now …                   you can practise                       Exercise 5

1) 62 × 32

2) 207 × 300

3) 53 × 23

4) 530 × 23

5) 301 × 102
and …                   you can practise                        Exercise 6

1) 52 × 35

2) 27 × 30

3) 42 × 25

4) 421 × 41

5) 223 × 142
Part 4: long division

What …          you need to know to start                                TLA9
· 12 ÷ 3 = 4 has the same value (different appearance) as

	
	4
	

	3
	12
	

	
	
	


· When you see

	
	
	

	3
	12
	


you search the three times table until you find twelve

	3
	×
	4
	=
	12
	
	


How many piles of three can you see? 4


· 462 has the same value as

and the same value as

   and the same value as


What …              you need to do to start                           TLA10

462 ÷ 3 
	3
	462
	3
	300
	
	100

	
	
	
	150
	
	50

	
	
	
	12
	
	4

	
	
	
	
	
	154

	
	
	
	
	
	

	
	
	
	
	
	


462 ÷ 3 = 154
 So …                  you can do these                               TLA11

1) 465 ÷ 3

2) 468 ÷ 3

3) 745 ÷ 5

4) 750 ÷ 5

5) 854 ÷ 7

6) 187 ÷ 17 

7) 1870 ÷ 17

8) 2990 ÷ 13

9) 2990 ÷ 5

10) 2360 ÷ 236
Now …        what can you do?                                  TLA12

1) 467 ÷ 3

2) 469 ÷ 3

3) 748 ÷ 5

4) 754 ÷ 5

5) 859 ÷ 7

6) 189 ÷ 17 

7) 1873 ÷ 17

8) 2992 ÷ 13

9) 2994 ÷ 5

10) 2364 ÷ 236
 Now …                   you can practise                 Exercise 7

1. 657 ( 5

2. 6573 ( 5

3. 579 ( 3

4. 580 ( 3

5. 5800 ( 30

6. 5801 ( 30

7. 5801 ( 33

and …                   you can practise                   Exercise 8

1. 657 ( 6

2. 6573 ( 6

3. 579 ( 4

4. 580 ( 4

5. 5800 ( 40

6. 5801 ( 40

7. 5801 ( 43



you say 





Three thousand times four hundred equals twelve thousand hundred 





and you write 





3 000 × 4 00 = 12 000 00

















3 ×  0 =  0


3 ×  1 =  3


3 ×  2 =  6 


3 ×  3 =  9


3 ×  4 = 12


3 ×  5 = 15


3 ×  6 = 18


3 ×  7 = 21


3 ×  8 = 24


3 ×  9 = 27


3 × 10 = 30








Miscellaneous Examples A











3 00 000 × 4 00 =


3 00 × 5 0 =





Look at this: 11  × 19 = 209 and use pictures in the mind to do these:       


       (a) 11 × 19 000                     (b)  11 00 000 × 19 00





21 00 ÷ 7 0 = 


15 000 ÷ 15 00 =





4 000 ÷ 4 00 =


 63 00 ÷ 7 00 =








42 × 25


421 × 41








854 ÷ 7


187 ÷ 17 


2994 ÷ 5








400


  60











6) 54 0 000 ÷ 9 000 =


7) 21 00 ÷ 7 0 = 


8) 15 000 ÷ 15 00 =


9) 15 000 000 ÷ 3 00 =


10) 45 00 ÷ 9 0 =








Miscellaneous Examples B











3 0 × 4 0 =


3 000 × 8 0 =





Look at this: 11  × 19 = 209 and use pictures in the mind to do these:


              (a)  11 000 × 19 000                    (b)  11 0 × 19 00





54 0 000 ÷ 6 0 =


54 0 000 ÷ 9 000 =








72 000 ÷ 9 00 =


2) 56 000 ÷ 7 0 =





52 × 35


27 × 30





189 ÷ 17 


1873 ÷ 17


2992 ÷ 13








6 0





2





3 ×  0 =  0


3 ×  1 =  3


3 ×  2 =  6 


3 ×  3 =  9


3 ×  4 = 12


3 ×  5 = 15


3 ×  6 = 18


3 ×  7 = 21


3 ×  8 = 24


3 ×  9 = 27


3 × 10 = 30








1) 72 ÷ 8 = 


2) 54 000 ÷ 9 =


3) 42 000 ÷ 6 000 =


4) 36 00 ÷ 12 00 =


5) 54 0 000 ÷ 6 0 =





1) 27 ÷ 3 = 


2) 27 000 ÷ 3 =


3) 27 000 ÷ 3 000 =


4) 18 00 ÷ 3 00 =


5) 18 0 000 ÷ 3 0 =


6) 18 0 000 ÷ 3 000 =


7) 18 00 ÷ 3 0 = 


8) 15 000 ÷ 5 00 =


9) 15 0 ÷ 3 =


10) 15 0 ÷ 3 0 =





6 0





2





6 0





2





300


160


    2








300 


150


  12
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